2025 BIMAENER $IEE £M T E P E R 48158 B#I
4 A 5 A 6 A 7 A 8 9 A
FEILHRE(~T) PESTITES
1 X |BAHEXS30 S 1l 8 1| % 1| & 1l B
HRRMEA
2| X 2| & 2| A 2| K 2| £ 2| X
FrE=r
3| & o = [ 3| % 3 3 A 3| %
#HEYDH R2RBE
4 & 4 B 4| %k 4 & 4| B 4 K
ELDE TBEREHE (2F)
5| + 5| A HEES 5| £ 5 & 5| &
6| B 6 X e 6| & 6| B 6| Kk 6| =
C- A EE 830~ BFLA 56
1| B E’éﬁﬁk*iiﬁ S0~ BBAH 7| % 7| 1| B 7 7|l |
T == =
8| x #iER8:25 A% 10:00~10:30 o| o B o] % o & o B
1515 3% 518:35
BIRFELR - BRER
9| K |£@ TR TS 9| & 9| A 9| % 9| £ 9 %
XHEARER
BB (2~64F)
10f X |FrAEQ4IEQ64E Tof £ IS 0] & 0| B 10] K
AR Q24 Q)34 LEEECEE S wos
1| & |pTARE-RHEES 1] B 1] XK 1| & 1| A 1 K
EXh]
12| £ 12| B 12| & 12| + 12| % [P 12| &
13 8 13 %k 13| & 13 B8 13| & [FRATHE 13 £
RALRIE@1 55 EZEREE]
14l A 14| % 14l + 14| A 14 K ul B8
EEEEE]E TEHREES = IEE20)
15| F1E BRI . sl | 15| % FHREE 5l 2 ECEREE sl 8 HWENR
16 TERRRE 16 16| A 16| i | FRRESS 16| £ 16[ %
iﬁﬁﬁiigiﬂﬁﬂégi (EIE- k- TR 1’“%2}1%%&%%%
ZAES DA 45 -HB) n BTRFE
TR s 1320~ 15:30 17| £ 17| % 17| K = 17| B 17| Kk
KBRLHE(1-3-4-5-65) EZTE S
18 & 18[ B 18[ s 18| & 18| A 18 &
19| £ 19| A 19 & 19 + 19| % 19 &
RRIEE
20| B 20| k 20| & 2| B 20| 20| +
LEFNFEFRRATCE (HRIHE) BOR
21| A 21| K 21| 21| g |EEAR8/3D 21| & 2| |
22| K HHRIZ00~1130 22 22| B 22| X 2| & 22( A
FNEE 125 3.4 EZ2E
23| 7k 23 BrEE * * 23| A 23| K 23 23| & 2%
RIRBRE
24| K 24 + 24| K 24| K 24| B 24| K
B B SIEELIIB
25| & %ﬁfﬁfﬁﬁm‘% SEELlR 25| B 25| kK 25| & 25| A 25| &
EEE (= )
26| + 2| A 26| K SERATEEHHEOR) 2| = 26| & 26| &
271 B 27|k 21| & SEEEFE (CHREOR) 271 A 27| %k 27| +
KEBFPTARE
28| A 28| 7k 28| £ 28| A 28| & 28| A
IEE] =
20| % [BHPH 2| x [(FEFHET 2| B 20| % 2| & »| A
30[ k | & [(FEFRE 30| A 30| % 30 30| %k
31| £ 31| K 31| B




fidTIh iy B/ SHTEE EFHITEFEE
10 R 11 R 12 A *¥8&E 1 A 2 A 3 A
tH
1| X 1 £ 11 A 1 & 1|8 ]
EZ L]
2| & 2| B 2| & 2| & 2| A 2| B
= EEDH
3| & sl 8 XIEDH 3| K SERFRFENRE 3| + 3| w 3| %
= =5 = SERFRF IR
4 RRARRE 4] K 4 K FEARENIE 4 B 4| K 4] K
5| 8 5| K 5| & 5| A 5| K 5[ K
eI T
G o & [FHYIVIRE 6 + 6| % 6| & 6| &
7| % 1| ¢ [RRYF/HRETRA 71l | 7| % 1| £ 7| £
=y
8| K& 8| 8| A o & TR sl B 8| B
ARRR
9| & 9| B 9| x 9| & ol A 9| A
10| & 10| A 10| K 10| & 10| & 10[ %
2]
1l + 1l x 1l x 1l A 1l ok RSk2 IS
RADH
12| A 12| %k 12| & 12| A 12| & 12| &
— I EEE
13| A PRGN 13| & 13| + 13[ %k 13| ¢ [IEEECRASE 13 &
pEL
14| x 14| & 14| A 14| K 4 + 14| +
15| 7K 15 + 15| A 15[ & 15| B 15| B
16| # 16| B 16| x 16 16| A 16| A
17| & 17| B 17| K& 17 £ 17| X 17| &
2FHREER
18] + 18]k 18] & 18] B 18] 18] &
2 YREFR BAGHEURS
19| B 19| K& 19| & 19| A 19| & 19| &
TR PRESEER 2]
20| B 20 & 20 + 20 % 20( & 20( &
21| % 21 & 21 B 21 % 21| + 21 £
— —= =
2| K [TEEHARS 2| + 2| g [FEER 2 2| A 2| A8
= = 7 EX T =3 B
2| * TEEARBEARTFHE 2 B e Y] 2l % 2R ER 2l & 2l B REHER 2 B BRER
& = a £ ~1/1 EESTEE SN
24| & TRERBRETH 24| A 24| kK FHRD 24| = 24 & 24| % RS
E3 ~31
25| = 25( % 25( * 25| B 25( % 25( %k FERAR~H
2| B 26( % 2| & 2| B 2 2
27| B 27| & 27| 27| % 21| & 27
28] % 28| & 28 B 28[ %k 28 + 28| +
=
29 20| + 2| g [FRATH 29 2 B 2| B
30 30| B 2| x [FERTE 30| & 30 A
=
3| & a| x [FRATHE 3| + 31| %




